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Advance Welder Final LEVEL1

Q 1) In resistance welding/ gfoRieh afcgT o
1) No arc is producedm_sC 3T :|€°f§|:|'|7:‘gE EiGil

2) Heat is produced by passage of current/@RC B I SHOAT ITH P oIl %
N C .o 9
3) No filler metal is used/®13 fheR 4T Ugdd -Tal giall

4) All of these/d T

Q 2) Which of these is NOT a type of distortion taking place in welding?/ 37“?[ J DI
AfeET & THd g aTell fawfa &1 TR 81 82

1) Radial distortion ST

2) Longitudinal distortion/3¢ & fadid

3) Angular distortion/® 0T

4) Transverse distortion/SJU] ﬁ?ﬁ[
Q3) Identlfy the defect in the weld bead shown below./ % FIfAd e ol & Ffe ugaH|

W N\

1) Blowhole/d'S

2) Lack of fusion/facrg BT HH

3) Lack of penetration/ﬁlef oy
4) Porosity/IRdT

Q 4) The function of welding torch in TIG welding is/ [l \’rﬂg STt afed T & afed™ e &1
PR —

1) To carry current to weld area/®Rc Pl dcs &F db o ST
2) To carry shielding gas to weld area/R& b 19 &1 deS &F b d ST

3) To carry cooling water/3 8] Ul SH & ﬁl’E
4y All of these/ T+

Q 5) A short weld made prior to welding to hold plates in alignment is called/ Yd> Bl Gﬁ%’

58 3G uga ufvrl & Ty 7 ube & T s a1 8, Feadr e

1) Tack weld/cTohT
2) Stitch weld/RIdT 3T NS
3) Tag weld/eTT

4) Temporary weld/ Wﬂﬂ SIS

Q 6) Determining the quality of weld without destroying the weld, is a method called / \_Fh_S'

& Y P fomr I Turar 1 fAfyd B Bt fafer EEINI]
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1) TDT/A. 81
2) NDT/GH.31.¢t
3) PDT/ULELE
4) QDT/RS1.Et

Q 7) Which of these is a method of Welding with pressure ?/ ERE kS| DI fafd gama
CIRSUEA K

1) Gas welding/ﬁg afeET

2) Resistance welding/qm eff afegT

3) Manual Metal Arc Weldingﬂﬁ Hed 3o dfesT
4) Thermit (Fusion) welding/ yfife (CENE)) afedT

Q 8) Which of these is a temporary joint?/ 399 DI 3RUTE TS 72

1) Press ﬁtjoint/ag fioe Gﬁ@’

2) Welded joint/des a1 T e
3) Brazed joint/CTehT 71T Gﬁ‘s’

4) Riveted joint/ﬁ%c& q SIS TSI

Q 9) Which of these is NOT a component of arc welding circuit?/ 3—-{13[ q DI 3Th

AfcET fche &1 3T Tt 82

1) Power source/[dggad Aid

2) Welding cable/dfET AR

3) Jig/AT=n

4) Electrode holder with electrode/Qcl 5 IS F%T‘[ $Q'1<=ki|6 6IQ’5(

Q 10) As the length of the welding arc increases/ ST 3T B TS aaef G|

1) The operating voltage increases/3TIRICT dlees aa‘cﬁ %

2) The operating voltage decreases/3TARCTT Aleeol ‘EIET‘ﬁ %

3) The operating voltage remains the same/3ATOR ST Aol THH QSCI“I %

4) The operating voltage may increase or decrease/TRIET Tlecst de dldYc gl %

Q 11) Which of these is used to check shape and size of a weld bead?/ i‘:"lﬁl. J D1 I

dTS @ 3MTHfd T AT P S & BT 31T 82

1) Weld indicator/deS BSEEd
2) Weld template@@' GIE]
3) Weld gauge/aﬁr S|

4) Weld dial/des 3fHUE

Q 12) Which of these machines converts AC into DC?/ 3_'{3[ I a’ﬁ:m)[ BRI U Rikcakcik:ll
H ufkafdd B 82

1) Amplifier/TATHTIR

2) Inverter
3) Rectifier/ANY®H
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4) Transformer/SIIHIER T TRTID

Q 13) The problem of arc blow is encountered when/ 3T 3T &1 JHWT ATHA 3ﬂ_’$£\_5‘|_d

1) Tranformer is used for weldmg@%’q & ﬁm W

2) DC power supply is used for weldmg@%’ﬂ & forg St <t W‘f G‘I'I'Cﬂ%f Ugad E_sf
3) When rectifier is used for weldmg@%’q o fore H=nys® Ugad g3l

4) Any of the above is used/ZTH G PIg ot Ygdd g3l

Q 14) In the figure of gas cutting torch shown below, which component controls flow of

cutting oxygen? % 31 7 RfAd T Hfew e A o1 s/qga s sifRfio &
JaTg P! fafd drar 82

1) Flow of cutting oxygen is controlled by A /BT RIS 1 UaTg A gRIT (Hdfd foar
SIS

2) Flow of cutting oxygen is controlled by B /BT RIS 1 Yarg B gRT a3 foear
SIS

3) Flow of cutting oxygen is controlled by C /BT RIS &1 YaTg ¢ gRT HafAd foear
STl 8

4) FIO%W of cutting oxygen is controlled by D /BT RIS &1 UaTg D gRI1 (Hfd foar
NGl

Q 15) Electrical potential is also known by the name/ ﬁ?ﬂﬁ &1 T o
STHT STl 5

1) Electrical force/@@’ﬂﬁ EN
2) Electromotive force/ﬁw ILICE ]

3) Electrolytic force@@w dd
4) Electromagnetic force/l[d¢qd gl-domq EN|

Q 16) Name the resistance welding process in which two wheels are used./ 3¥ ISR

Afe T ufesar &1 8 sat forad < ufgal &1 v fear Srar g |

1) Silent butt weldmgﬂ'lgﬁ? g afET
2) Flash butt Weldmg/ﬁ'-‘ﬂ ge afedT
3) Seam Weldmg@?ﬂ afe@T

4) Projection welding/Y &Y afcT

Q 17) In spot welding, electrodes are made of/ Wre afeET b, sﬁa?;’"ltf: CENG| %
1) Alloy steel/fTr% S¥UTd
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2) Copper/dIdI
3) Tungsten/CI¥C
4) Tin/fcH

Q 18) Which of these metals can be welded by TIG welding?/ [l &n‘s‘ it afe@ T 9 E:I'ﬁ[ |
B YT Sl o ool 82

1) Copper/?‘l'i_cﬂ

2) Aluminium

3) Stainless steel/STTRIEN Id
4) All of these/d T+

Q 19) Which shielding gas is preferred for TIG welding of copper?/ GICEHK] Gﬂg Sit
afedT o fory IR Yareh 719 1 HUTdl < Oirell &2

1) Argon/ 3N

2) Helium
3) Mixture of argon and helium/ 3T g giferay o1 fsror
4) Both argon and helium are equally good/&l'l"ﬁ g gifergd il o THM ST %

Q 20) For TIG welding of aluminium, use of/ Qﬂﬁlﬁm k| \3'|'|§ St af& T & ﬁ‘l'q,
Gal

1) DC with electrode positive gives better results/SI 91 & 1Y YATHD Il A\IIS dgR
iR & §

2) DC with electrode negative gives better results/ 31 T & Y HBUTHS ? aGIQVS SIE;CR
R ST §

3) AC gives better results/T T é%a? o aﬂT %
4) Any one of above will give good results/STH I Pz Ht dgaR ukomd ¢

Q 21) Which of these is NOT a high speed welding process?/ ERLES) DI 3= T Bt
afeE ufdsan T8t 82

1) Submerged arc Weldlng/ﬁi?s%fel'{ar 3T afedT
2) MIG welding/ o afeET

3) MAG weldlng/a"T afeET

4) Gas welding/T afc&™

Q 22) What is NOT true about MIG welding process?/ forT AfcET ufshar & aR o T 98t
T 82

1) No slag is formed/@Ig UTEAT o] &dl

2) No frequent change of electrode is requ1red/$('10kils | dl(dl( gRac 3azaed el %’

3) Equipment required is expensive/3[dRYDH FUDH U] TG Gldl %
4) Rate of metal deposition is slow/Ul] ﬁ&'a'CIT-[ I [+y efiet %

Q 23) Figure below shows gas cutting process. Kerf is indicated by/ g feor mar o g
HIT e 1 SR 81 PTe o1 =i Sfid fpan man g —
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1) Kerf is indicated by A /@I A GRT3M1d &
2) Kerf is indicated by B /BT B gRTR1d §
3) Kerf is indicated by C /BT C GRT A §
4) Kerf is indicated by D /®Te D RT3 §

Q 24) Identify type of metal transfer in MIG weldlng as shown below/ ﬁ'E[ E’Qﬁ'ﬁt T|§ o
H gU YT ICRUI & YR bl UG |

e

Pl

1) Dip transfer/[$T §¥ATAR0T

2) Spray transfer/T XITARUT

3) Globular transfer/MATPHR BXATARUI
4) None of these/s_"lﬁ I aﬁé 7‘|€f

Q 25) What is chemical formula of calcium carbide?/ BIeRITH FHETSS BT IAAH I
g7

1) CaC
2) CaC2
3) Ca2C
4) Ca2C2

Q 26) Which of these is reducing agent or deoxidant?/ 5'14:[ Y ST TS HRP Tl

feaifaiiee 22

1) Silicon/fRiferem

2) Manganese/a."'Fﬂ\_rf

3) Both of the above/3URIad Il
4) None of these/3TH T aﬁé T8l

Q 27) If a metal resists penetration, it is/ gfq T Yrd YA T 3aR1Y I Bl %, drag %

1) Toughm

2) Brittle/HTR
3) Hard/31
4) Ductile/TH-1
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Q 28) Figure below is simplified diagram of a transformer./ = fear T o= Uh gRad®

1Rl oo ¢l

1) In it B indicated iron core@ﬁ B Fn% HTDHR %

2) In it B indicates copper core/i‘:i-lﬁl' B A& &R %
3) In it B indicates steel core/Q¥H B ¥lc] IR %

4) In it B indicates regulating core@ﬁ B fafam &R %

Q 29) Why is cast iron preheated before welding?/ Eﬂ?ﬁ?h% P AfET I tl%ﬁ ™ i
o e 82

1) To avoid shrinkage/qu-lg)\i:l J §9H & fau

2) To avoid cracking/dSd I ¥a & fog

3) To avoid hardening/d%d HEEEEIRE:D fog

4) To ensure all of the above/d JHI ﬁ&ﬂc\%ﬁ FHDB %’Q

Q 30) In arc Weldi.ng, closed butt joint is used on plated upto/ 3T afedT ﬁ, HelH T feu
S & forg o1 9 caax SIS &1 T il &, 98 81T

1) 3 mm thick/3 fi.30 Arer
2) 5 mm thick/5 i #t drer
3) 8 mm thick/8 fH.H Aler
4) 10 mm thick/10 .8} Hier

Q 31) The test which does not require use of electricity is/ dg S forad fasTelt &

3Tl el g1, §

1) X - ray testing/@_ﬂf}\’ EIE] .

2) Dye penetrant testing_;@'rsC aﬁg? EIES

3) Ultasonic testing/31c'§l~{-l\llr'\‘|d7 SIE .
4) Hydraulic pressure testing/ GadIierd gard i

Q 32) What is arc time ?/ 31T JHI T g2

1) The time the arc is on during the arc welding operation/dg HHY Sld 3T AT HF &

SR 31 I BIeht &

2) The total time the worker is clocked into work/&PTH U HulgY & B BT P HHY
3) The non — arc time/TR 31T THY
4) The total arc and non — arc time/P <l 3T § TR-31Tch JHd

Q 33) Identify the joint shown below./ % GITE 7Y SIS &l UgdaH |
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1) Edge joint/dgd Jgad
2) Corner jointm%f TG
3) Plug joint/THT TYad
4) Slot joint/&dIC g

Q 34) What is NOT correct about flux used in gas welding?/ g AfgT A Ugdd Ul &

IR H T el T 32

1) It is fusible/Tg AT BlaT &
2) It is chemical compound/dg RESIRIECIIRED %
3) It dissolves oxides/dg HATS Pl faerg ear %

4) None of these/3TH § DIg o1

Q 35) When gas welding, flux is not required for ....../ g afeET ﬁ, Ul & forg
3TaIS 5l &

1) Aluminium/@mﬂ
2) Mild steel/Hg ¥Id

3) Copper/(_‘l'iT!ﬂ

4) Brass

Q 36) Visual examination of weld can help detect the defect/ 38 BT T TRI&UT GIY &I
Ul @ H HEG R Gobdl &

1) Undercut/Ic

2) Improper proﬁle/x’ﬂﬂﬁlﬁ PILIE]
3) Incomplete penetration/3 YT qag
4y All of these/d T+

Q 37) What is the type of pipe joint shown in figure below?/ IBCACEE:] aryu Gﬁ‘s’ =2l

DI UPR <R 82

1) Tee joint@-\_iﬁ_sf

2) Flange joint/Fadl g3 bR TS
3) Y joint

4) Branch joint/RIMA[ Gﬁ?:
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Q 38) The size of the cutting nozzle used in oxy- -acetylene cutting depends mainly on/

SﬂTﬁﬂ%ﬂ TR ST R FETANA FIAGR TS WRAR
CRGIN

1) Thickness of the metal to be cut/ BT S arelt Yrd HI A W)
2) Purity of oxygen/&mﬁﬁ P LLexdl U
3) Duration of cut/@e B A W

4) Type of the cutting blowpipe/P < aTd! AT o UHR IR

Q 39) How should the orifice of a blowpipe be cleaned?/ ENIED %Ief P! b g UHR TH
o ST Tehall 52

1) Use soft steel wire/AXH TId Bl aR o
2) Use soft copper wire/"XH dIdl dIR |
3) Use tip cleaner//CT FEIR ¥

4) Use a small diameter drill/BIC T &t %01 |

Q 40) The major part of atmospheric air is taken by/ aT@:IET’ﬂ'q 'dl pT UHY HIT o foran
STl 82

1) Oxygen/ RICNISE]
2) Nitroge

3) Hydrogen

4) Argon/

Q 41) The letter H used as a suffix at the end of the electrode code indicates that it is ..../
?ﬁsﬁs%&mﬁmﬁwwmw&mmﬁam%aﬁaﬁ
|

1) Heavy coated electrode / i Aftd 3@3@3

2) Low hydrogen electrode / 3{e4 E'IB@GF[ 3@3@3

3) Iron powder electrode / IR 3@5@3

4) High tensile strength electrode/ 3= d=-dl gra ‘s’?ra@s’

Q 42) Which test is done to find out percentage elongation of weldment?/ 31?“”% CRIGEG]
§¢Td 1 Udl TR & T Si=dT Tierur far Sirar g2

1) Guided bend test/ TES S HIS URI&T
2) Tensile test/ Tl UI&0T

3) Fatigue test/ Hifcl UR1&f01

4) Impact test / Ug TRi&r

Q 43) Which welding defect can be easily detected by visual examination? / €Y TRA&T gRT
DT AfCET Q1Y ST H TaT T S Hhell 67

1) Lack of fusion/ H@a- H HH!
2) Misalignment of welded parts/ TS HI BT @

3) Inter-bead slag inclusion/ ‘{;Ci-dnls TN 3fAdTH
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4) Root defect in T - fillet weld/ T-firdle dcs & &g g

Q 44) What will be the effect of long electrode stick-out in MIG / MAG welding (Figure
below)?/ ToT / T1 Afed™ (R foer) & e gaae s Redh-313e &1 SRR 31 g

Nazila
—_

Corlactep

‘
Elpctrode  Contact tip-

shckoud ta-work
Nozzia-lo- ' distance
wark dEiance
l Are langth l

!

1) Excess weld metal / 3ffdl I= Y1d
2) Low weld metal / 3{c4 CIcS) Yrd

3) Weld metal rough / CI) Yrd B‘FCI'F\"W

4) Weld metal smooth / ¢S YTq HHdT

Q 45) Which inert gas will produce more stable arc in GMAW?/ \TIIU-I s w{ﬂ\f{ P T
ffera 19 31w R 311 BT It Bt

1) Argon / 3

2) Helium / gfcrad

3) Carbon dioxide / BT& SIZAHFITZS

4) All of these produce equally stable arc/ g uft FRR 311k &1 Iare el

Q 46) Which operating variable in submerged arc welding controls the arc length? / BSEEEC)

AT & P71 TRIET IRTIA 311 THaTS bl g drar g2

1) Welding speed / affa

2) Welding voltage / ST diecs

3) Welding current / CIRSURCIR

4) Electrode wire extension / 3@3@3 GICACESIR

Q 47) What is the size of gas nozzle for 1.5 mm diameter tungsten electrode in TIG welding

process?/ﬂ&ﬂﬁa%'[mﬁ 1.5 forht, g & ETRe sao@s %mﬁg:h\_ﬂﬁﬁ
THR TGN

1) 10 mm diameter/ ot s
2) 12 mm diameter / o, =
3) 14 mm diameter / foredt, =g
4) 16 mm diameter / foredt, =g

Q 48) Identify the weld defect in the bead shown in figure below. / g fomr o g2 ‘T’sc
d18 ¥ dts &Y & UgdH &Y
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1) Porosity / IREdT

2) Slag inclusion/ YTgHT 3fafase

3) Lack of fusion/ ST BT 3fHTT

4) Lack of penetration / UdY &I 3HG

Q 49) One of the reasons for avoiding use of long arc in welding is .......... / AT H vt
3T & TN BT Joi-] B & HRUN H I T 5-

1) It gives lack of fusion in base metal/ g HIUR UTJ H I BT 3AHTT Ul hdl %
2) It increases open circuit voltage / g 3o Tfdhe dlee deldl %

3) It increases proability of crack in weld/ g Gk dsd D TG B deldl %

4) It increases consumption of electrodes/ g saqg‘ls CARCLRECA] deldl %’

Q 50) Application of which NDT does not require electricity? / DY Qq§|é| & T &
forq fosTelt @t Sra=g el Te! o7

1) X - ray test/ X- X TRI&f0T

2) Dye penetrant test / G'ITQc ﬁﬁ?fcf PRI

3) Ultrasonic test / Cﬂm BRI

4) Hydraulic pressure test / gﬁ@m aTd URI&T

Q 51) The principal advantage because of which iron powder electrodes are used, is ......... /

I8 U@ A1y o HRUIAIG UI8SR Sades Ugad [hd 1 ©, 98 &-

1) Time required to complete the weld is reduced / I@E Bl HCI;UT CRE A I CEE
Ty H B!

2) There will be no cracks in the weld / d o ﬁ‘s‘ dsa el gl

3) Flux coating becomes stronger/ UeIaR] SEERIER I %

4) Resistance to flow of current is reduced/ HXc JdIg gfeRIY 1 g1 ST &

Q 52) Which statement is true about submerged arc welding? / Jars 3T AfeTT & IR |
DI HYUA 5l 82

1) vacuum Welding is done / éaqq e 31 STt %

2) Bare wire electrode is used / M dR gﬁaej—s’ Ugdd fpar ST g

3) It can be applied for welding in any position / Ug foddt oft Rufa 7 afc@ T & fere Ugad
ERISIECRIN

4) Rate of metal deposition is slow / YlJ ﬁr&h X ety Eﬁ?ﬁ %

Q 53) What is the advantage of using low heat input electrodes? / 3{el dlU g1YC 3@3@3
1 YART P BT ATH T 52

1) Very thin layer of weld metal can be applied / B Yrd P ggd Uadl IRd Ugad PI S
il o
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2) Distortion and warpage are reduced / ﬁ?ﬁf 3R Sfafiradr HH B STt %
3) Quality of weld metal is high / ¢S YT P1 = UG Bl &
4) Surfacing can be done in all positions / TR gt fufoal J & o gadt %

Q 54) The weldi%g symbol shown below is of .................. / g =i T AfeET Riga
PRl

1 -l\
1) Square butt weld / TPTIR d¢ dcS
2) Single - V butt weld / T d- V 9 dca

3) Double - V butt weld/ T8I - V §¢ A8
4) Single - U butt weld / THd- U §¢ d08

Q 55) What will be the effect of improper inert gas flow in TIG welding?/ a\’rﬂgTrﬂ af T o
3f3fad fAfSra 1 Uarg &1 uvTa 1 g

1) Porosity/ TR

2) Cracks/ dSs&

3) Lack of penetration/ A BT 3HTd

4) Weld metal getting oxidised/ JcS Hed &l &mﬁ Gl

Q 56) Which electronic unit facilitates arc initiation in TIG welding?/ Ep[\?rl'lﬁ GIRSHE:

DI faggd 3T H 31Th SUHH B JAUT UGH HRd! 82

1) Low frequency unit / e 31’@% sm‘s‘
2) Medium frequency unit / H&] 3'”@1%[ wrs“
3) High frequency unit/ 3= @ITQR'T ECAE)
4) Double frequency unit / QTFﬁ 3‘”@%’[ ECAE]

Q 57) The nozzle used in TIG welding is made of ................... / _cpf\”ﬂgﬁﬁ afcsT H Y

ot Afffadarg
1) Bakelite/ S clI3e

2) Ceramic /

3) Plastic / WIRCH
4) Clay / farbit firgt

Q 58) What will be defect if fusion does not take place up to root of the weld? / i dee di

OIS T GAd T8l gidT & ol o1 Gy gHIY
1) Blowholes/ aRIHNT

2) Lack of penetration/ a1 YT
3) Porosity/ IR
4) Cracks/ dsh

10.6.60.71:8080/gbexcel/admin/Download.aspx?id=114 11/33



7/27/2019 10.6.60.71:8080/gbexcel/admin/Download.aspx?id=114

Q 59) Which non-destructive test can determine the depth of an internal weld defect?/

DT IR IR uierur 3<aiker s GV Pt TexTs ! Ui &R Tohdi 82

1) Ultrasonic test/ m TRI&f0m

2) Magnetic particle test / ﬂ@ﬁ’q HUT TRIET0T
3) Dye penetrant test/ i) elﬁg? PRl

4) Eddy current test / TS] BhRc URI&UT

Q 60) Which physical property helps to retain molten metal in position when welding is

being done in overhead position? / S afeET m Rifad ot wﬁ‘eﬁa‘[ﬁw
ifdes T[0T gadt 4T ! RIF IR T8 [ H AEg Bl 82

1) Magnetic attraction / ﬂ’@ﬁ’q STHYT
2) Surface tension / § d-ld

3) Capillarity /

4) Thermal contraction / i Hpa

Q 61) What is the shape of the tip of tungsten electrode used for TIG welding of
aluminium?/ DI 3N diceT H TN 81 aTell ¢TRe SaIdelS &1 Hid @l
3{THR T BId 52

1) Pointed end / ﬂaﬂ?ﬂ R

2) Flat end / UTe RIRT

3) Spherical end / TATHR RIT
4) Angular end / ARSI

Q 62) Spot welding process basically depends upon ................. / Wic afedT ufshar Hal U
g W R R

1) Application of forging pressure / Tg Ié &1 o YR
2) Ohmic resistance / 3T gfeRIY
3) Generation of heat / $HHI TG

4) Generation of heat and application of forging pressure/ HSHI SUIad d g I’S‘ q1d &
TNT

Q 63) There are four modes of metal transfer in GMAW. Which one is considered least
desirable? / STTATSSY H 4T SXTARUI & IR AR & | B AT Ja4 HH Fid-1g AT
STl 82

1) Spray/ 5|
2) Pulsed spray / U LS|

3) Globular /
4) Short circuiting / TTc Ffep e

Q 64) What type of electrodes are used in resistance seam welding? / gfoRiY Tia afee T |
{5 THR & Faaers Ugad fhd SiTd 82

1) Flat / gHJdA
2) Disc / @Usd
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3) Domed/ !'!§|3|$R
4) Pointed / I Ial

Q 65) Flux is required to be used in ..................... process. / UcIdR] gfgar #

TG §IF o 1T SMTa=RTS Bl o

1) TIG / ET3masht
2) MIG/ forT
3) MAG/ BT

4) SAW/ THUS Y

Q 66) What is the preheat temperature to Weld carbon steel pleces havmg 0.3% to 0.45%
carbon?/ 0.3% ¥ 0.45% BT o] HIa LI b Sl D] A6 B o [o18 Wi araH=

18Il &7

1) 100 to120° C
2) 150 to 280° C
3) 280 to 350°C
4) 350 to 450° C

Q 67) Carbon supplled by the carburizing flame in gas welding makes the weld metal

............ / T 3T HIERUT SaTdl §RT U™ a1 TR e des UTg i

1) Tough / FAR
2) Ductile / 98

3) Brittle / WX
4) Hard and brittle / 9%d d 'J-I'{'R

Q 68) It is difficult to weld copper by resistance welding because of its .../ gfoRie afegT
GR1 did DI at8 BT SUD P HRU B3 BT g

1) High thermal conductivity/ 3= yid dlghdl

2) High electrical conductivity/ 3= ﬁﬂ:ﬂ?ﬂ’q digehdl
3) High toughness/ 3= :
4) High ductility / 3= Tl

Q 69) What will happen if cast iron is welded without preheating?/ &1 EﬁTIT afg W\f@%
&1 tigie fd famr aee oo Simee

1) Porosity/ TR
2) Undercut / dIc
3) Crack/ dSdh

4) Blowholes/

Q 70) Which resistance welding machine is used to join pipe sections end-to-end?/ UISU

?ﬁ%@f%ﬁ%sﬁ@%ﬁmwmeﬁaﬁnmﬁqmwmw
)

1) Spot welding machine / Wic afcdT A=A
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2) Projection welding machine / &g afes T A=A
3) Butt welding machine / dC JfeTT A=A
4) Seam welding machine/ i afe T w=iA

Q 71) What is the purpose of setting root gap ( g in figure below) in a butt joint?/ Uch dc
Igad # e R (FE R A ¢ ) e FA FI LT R E?

1) To obtain required depth of penetration / PEREARCI GRS ‘IGQIEE T R & %fQ
2) To control distortion / ﬁ?ﬁf fafad o= o ferg

3) To maintain proper alignment / eI TG §1E XA & forg

4) To deposit more metal/ 3HfgH YT ST HT P o forg

Q 72) Cast iron welding should be completed as quickly as possible. If slow welding is

done, it will cause burning of ............ /WWWWW@W@@W
1R afg AfeET ek 1 78 o gy BT a8 B

1) Iron and phosphorus / 3T 3R BRBIRY
2) Copper and iron/ ATl 3R 3R

3) Carbon and silicon/ HIa 3R Ryferepr

4) Lead and phosphorus / TS 3R BRBRY

Q73) %he type of joint used in spot welding is ................ / Wic dfgTH UYad Flﬂaﬁ Cal
UhR B-

1) Butt welding/ dc afedT

2) Lap welding/ Y afedT

3) Corner welding / PR AfcET
4) Edge welding/ TS Al

Q 74) If three or more gas cylinders are connected together, the system is called ........ /afg

I a1 3ifie T Rifeie ve Iy 93 €, T et HEAN g

1) Portable system / gicad Jurel!

2) Group system / HHg PYIK]|

3) Manifold system / A thics gurre!

4) High pressure system/ 3 GId YUITC!

Q 75) What may happen if a welder is arc welding while standing on wet floor? / &I 33[

Thdl g Ul T deey e Bl R WS g 31 AfcETT H 38T 82

1) Burn injury / STa- &ffd
2) Electric shock / IEERIEIERC]
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3) Cut on the leg / TR R &
4) Eye injury / 59 814

Q 76) Which main factor will help cost of welding in a single V butt joint?/ Udh ¢l V dc Gil@_
N . . ~
T B I G- HRS dfest] &I diTd J Hag H?

1) Weaving technique used / G\J;‘Ilsr a1 Bl i‘»%ai-llﬂ

2) Correct included angle of V / V &I el ARSI AN S|

3) Length of arc / 3T Bt ?ﬂﬁﬂg

4) Type of welding current used / TANT fohd T AfcETT i &I UhR

Q 77) The zone next of the fusion zone in a welded joint is called ...../ Uh Gl \_rh_s' e

T &1 % UT el & EERIGIN
1) Cool zone / 381 &

2) Adjacent zone / J¥ &3

3) Heat-affected zone/ T THTfAd &

4) Local zone/ lih el &

Q 78) Which of these metals has the highest thermal conductivity? / 37'|'~ef J DI Yrd |
Iy T4 areehl gt g2

1) Mild steel/ H{g ¥UId
2) Copper / dIdl

3) Aluminium / Wﬁm

4) Zinc/ SIXdl

Q 79) Oxy-acetylene cutting torch tip orifice should be cleaned with ..../ Sfil-uffe e

Heg < DI AP BT IS I T T ST ARy

1) Tip cleaner / ICESIGH

2) Copper wire / GIEEIGIR

3) Steel wire / K P dR

4) Small size drill / BIC 3THR Hi fgd

Q 80) One of the reasons for avoiding the use of long arc in arc welding is ........... / 3%

fedT ¥ diel 311 &b I Y S & HRUN H J TH BRUG ..........

1) It will increase open circuit voltage/ g 30 gfdhe & dleesl &l del T
2) It will give lack of fusion of base metal / g YR YT & TATH BI HH! B
3) The joint will develop cracks /STl # &R fasRrd il

4) It will increase consumptionof electrodes / g ‘éadg\l i & @Ud delUI

Q 81) What will be the effect on distortion if the number of passes to complete a joint is

increased?/ﬁ@@ﬂﬁ@ﬁ%%ﬁqmﬁﬁwl del ﬁwm‘]%a‘f%mmm
T T2

1) It will increase distortion /dg fo=gur &t del a"'IT
2) It will decrease distortion /dg fo=uur &1 ger aTIT
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3) It will have no effect on distortion [AEqU R EREI zﬁg‘ JYTq :lgbf tI@TIT
4) It will have very little effect on distortion/3gT [A=YU TR dgd o H YHId e

Q 82) Root bend test is used to test the amount of weld ................ / 7T 48 TX DI IUANT
aTS DI &1 AT BT UIEU1 HRA & forT foban ST & 1

1) Ductility / TR
2) Elongation @@

3) Hardness

4) Penetration / e

Q 83) When water reacts with calcium carbide, the gas produced is ................ / ST T

FHIRIH PIags & Y Ufafhar HRATE, A o T I gl g
1)Hydr0gen@|€@\_ﬂ:{

2) Acetylene
3) Argon /
4) Methane EIDE]

Q 84) The circle used in a welding symbol means that welding is ................ / AT vl o
ST T S a1dt g &1 31 8 fop afe@T ...

1) To ensure that subsequent deposits are sound /g ﬁﬁ@lﬁ & & forg fos a1g 4 o Yrd
LK

2) To be all around the joint ﬁn—é & IRI RB I

3) To remove any excess flux [t oY sifafad dgld Ca _E'ETef & 1%111

4) To relieve stresses in the first place /CI_E:?[ JYTH R I ) CRCE: 1%111

Q 85) In the iG position of pipe welding, the pipe must be ........... /13y afET &1 iG T
HURy ... ERIEIEY

1) Rotated /ﬂ}ﬁ 5"5‘
2) Inclined f&'\lﬁ E_EC

3) Horizontal /
4) Vertical @3°[

Q 86) Which of these is a non-destructive test? ET'FEf A DIl Th R-foAmeT TRI&T
87

1) Nick break test /[ Sh TRIET

2) Impact test /s Tierur

3) Tensile test /d=Adl BRI

4) Magnetic particle test @aﬁtr HUT RI&T

Q 87) The portion of the base metal that has not melted during welding but its
microstructure has changed, is called SIHTUR YTd hTdg HIT o af&T & E:RIH '_-Igjf
g g Afer IUPT AISHReTR 9ed T8, 39 ......... HET Il 3l

1) Fusion zone / J&TT- &
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2) Heat-affected zone /3T I UHTAd &
3) Dead zone / Hd &l
4) Twilight zone /3if% &

Q 88) The heating of a welded joint immediately after having completed, it is called ../

AT PTG NS & R T & A G SYTH HA B ........ g oI 8|

1) Post heating /ORe BifeTT

2) Delayed heating fe&as %ﬁﬁ'ﬂ
3) Late heating I sifcT

4) Fast heating //h¥C BT

Q 89) Which of these welding processes requires the use of granular flux? /S afedT
Tfeharatt § ¥ foad SMeR TRIa & SN ST STa=gdhdl gl 62

1) TIG welding R"f&ﬂéﬁﬂ afedT

2) MIG welding /UH &ﬂgﬁﬂ afegT

3) Submerged arc welding [TTHS 31T dfeaT

4) Manual Metal Arc Welding /aT:[GW’f Hed 3T afeeT

Q 90) What will happen if during TIG weldmg, tungsten electrode melts and deposits on

weld metal? /301 BN TfS EraMgoll AfeET & SR ETRe Sadels g HR a6 g R
STHI Bl el 82

1) Cracks will develop /xS fasRyd 8t \_rlT\QITﬁ

2) There will be poor penetration /NG RIS g

3) Weld metal will get contaminated/de8 Hed Q@ﬁlﬁ _G:T SITEIT
4) There will be lack of fusion AT § HH Eﬂ"ﬂ

Q 91) What can cause excessive burning of electrodes in arc welding? / 31 afgT A
SAFIGT & AHATID STei- BT HRUT T g1 Yl 57

1) Arc blow/ 3T 3MTaTd
2) Long arc length / 3T Bt ?IET% 3HfedH

3) Low quality electrodes [ BCKI ard gﬁaﬁr@'
4) Too high welding current /dfigd 3P afcST Hie

Q 92) Which non-destructive test does not require supply from any power source? / g

R wteror o) fomdt ot fagga Wi 3 sy @ sawadar el gl 82

1) X - ray test/ TR - TRE
2) Ultrasonic test/ m TRI&f0m
3) Dye penetrant test @Tsc NEReniy|

4) Hydraulic pressure test / E'>I$\§\Ii310b G U8

Q 93) What can happen if you see electric arc with naked eye? @m 3T DI T 3l
Y 38 IR 15! Gl 82

1) Electric shock IEENIGIERC
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2) Eye injury /3{R@ H 9
3) Burn injury /STel &1 919 .
4) Cut on legs and hands /8T 3R ulg # urg

Q 94) Which of these is one of the factors included in classification and coding of

electrodes?/%ﬁﬂ@@\g%a"w ﬁWﬁWﬁﬁWWWW%V

1) Type of flux coating / UrcTdd DI HTUBR

2) Length of electrode / $Q\10}§\IS DI d dli‘f

3) Core diameter of electrode / sadq\ls BT DR Y

4) Required baking temperature of electrode / ‘éadg\ls BT AARGD ST dTIHH

Q 95) The property of a metal which enables it to stretch, bend or twist without cracking is
called ......./ YT 1 T T[0T o1t 39 fo1 22 e, Hisa o1 WRis & e ST §, 39
........ EHSICI

1) Ductility / FAtcTg=
2) Malleability / §¢-1 &1 ATl
3) Hardness /o Rdl

4) Toughness / €@dl

Q 96) Which method of weld inspection is the cheapest? / g Fterur &1 o 1 a-teT
Y Tl 82

1) Radiography Rfgarmmst

2) Ultrasonic test /&m TRi&mT

3) Magnetic particle test @aﬁﬂ U GRI&T0T
4) Visual examination /€Y TRiefor

Q 97) What is the type of filler wire used in submerged arc welding? / JIHSlS 31T afeET
T 1RT9 IR HT THR T 52

1) Bare wire/ 7 dR

2) Lightly coated wire / gechl dfid ar
3) Heavily coated wired /R Aftd dR
4) Flux cored wire / 6 DR ATl AR

N

Q 98) Which of these is an example of plastic welding? / H P I W afegT &1
TS 3G 67

1) Arc welding /31T afcaT

2) Gas welding g AfeET

3) Forge welding /TS feeT

4) Thermit welding /4fHc afcdT

Q 99) Double V or double U edge preparation is normally used if the thickness of plates to

be welded is ............. /a7 AfeET fhT oM a1 Wiel P Alers ............ Bl AR R
S d 1 89 G TS IUHH H1 WA T ST 81
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1) 1-5mm/1 -5 foe
2) 5 - 10 mm/5 - 10 Tt

3) 10 - 15 mm/ 10 - 15 foe
4) More than 15 mm/15 o 9 oifde

Q 100) The tip of a gas welding blowpipe is made of .................... g AfET H Ugad G
qTeH et BT RRT ..o J e

1) Brass /dtad

2) Bronze/® 4]

3) Copper IGIEI]

4) Mild steel /AXH SWId

Q 101) Which of these is a temporary joint? IERLE Eackil Teh YL \_Ih_é %‘?

1) Welded joint / AfeS fobar gaT il
2) Press fit joint /A9 fihe \_rh_s'

3) Brazed joint /CTohT T el Gﬁ‘s’
4) Riveted joint /RAT AT §3HT SIS

Q 102) What is the storage medium used to store acetylene gas in a cylinder at high

pressure?/Wﬁl@@ﬁﬁ@ﬁﬁ@%ﬁﬂ%%%ﬁﬂwmm
qTeT HSRUT HIeqH 341 87

1) Petroleum jelly /aaﬁ‘lm Sl
2) Kerosene oil /&I@ CAGK

3) Acetone /Q?“élq
4) Water /ATt

Q 103) As a matter of safety never use .................. on gas cylinders and regulators. / JR&T

& forg, 19 Rferext iR Ygael Rt oft BT U B

1) Wrench e

2) Oil /A

3) Teflone tape /CHA ¢

4) Leak detector /T RNCED

Q 104) Which oxy-acetylene flame contains excess of fuel gas? fg &ﬁ’a@-qlhléalﬂ
SaTel H S 719 BT STl Biell 52

1) Oxidising flame / 3fTARIPRE SAT
2) Carburizing flame /BTERIPHd AT
3) Neutral flame /3G SaTcll

4) Standard flame /HTdh SdTcll

Q 105) Which is the most common (maximum percentage) gas in the atmosphere? ﬂw

H T gaH (e ad ufard) T o @ 22
1) Oxygen/\’dmﬁﬂ
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2) Nitrogen/:llgélﬁﬂ

3) Carbon dioxide /PT& SZAHFZS

4) Methane EIRE

Q 106) An electric circuit is a path taken by flow of current. A path with no breaks is called

............ / fagga ufkuy, faggd YRT & UaTg GRT SO 741 A1 g | foHT 5o aT1dt U i
................. HEI ol 5|

1) Closed circuit /d¢ gRkuy

2) Open circuit /gl gy

3) Limited circuit /10T TRTY

4) Continuous circuit RO a1 9ad uRkuy

Q 107) Heat is measured in the units called ................ S STDT oo AHD Wl_st e
HTT A 51

1) Newton /<

2) Joule /Scd
3) Watt /dlc

4) Celsius/ATRTTY

Q 108) Always use ........cccueenee. to light a gas welding torch. /A AfET 7R Y ST &
U SHRM .o BT UGN B |

1) Matches CIIER]

2) Striker RGIRPY
3) Electric arc /ﬁ—d'ga 3T
4) Cigarette lighter /RATE cflgcy

Q 109) What term relates to amount of current flowing in an electric circuit? [t ﬁ?{ﬁﬂ

IRy H YRT YGTE ! A fhd Weg T Hafdd g2

1) Volt /alee
2) Ampere Jlegzeitany
3) Ohm/3{TH

4) Hertz /<ql

Q 110) What should be used to clean the tip of gas welding torch? /g AT T @Y
HIeh D1 It DHR o (e a1 IUTNT {ohan ST <1eW?

1) Steel wire /RCTA & AR &I
2) Copper wire /e & dR BT
3) Copper coated steel wire /dIdI AU W & dR &I

4) Tip cleaner feU iR

Q 111) Which among the following has relatively the highest thermal conductivity? E:I'Ef |

forgw amenpd Talftie ardia gereedr 82

1) Zinc /ST
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Q 112) In case of oxy-acetylene welding, oxygen cylinders are painted ........... /3T

uRyfeeii i@ |, sifeRiio & RidisA &Y ... T Y {M AR

1) White /% ¢
2) Black /Tl
3) Maroon /H¥
4) Red/cTd

Q 113) Which gas welding flame is better suited to weld both ferrous and non-ferrous

metalsV@TS'ﬁ?%ﬁ%ﬁﬁé@%ﬁﬁq@%a@ﬁmg9

1) Oxy-LPG flame/3{TRIT-TAGTSt @

2) Oxy-acetylene flame / Sieat-uffeei (i
3) Oxy-hydrogen flame /3T E'IE@GFT i
4) Air-acetylene flame /dT4- uRyfed @

Q 114) What is used to remove slag from a weld bead? GRS YrgHT P g o g
forrapT TR o Sl &2

1) Mallet /@S T gUTST

2) Chipping hammer /ST arel 62] ISl

3) Claw hammer /<l é’ﬁls |

4) Sledge hammer LSS _6'2“3_ |

ILEVEL1 Answer key
Question . Question . Question . Question .
No. Option No. Option No. Option No. Option
1 4 31 2 61 3 91 4
2 1 32 1 62 4 92 3
3 2 33 2 63 3 93 2
4 4 34 4 64 2 94 1
5 1 35 2 65 4 95 1
6 2 36 4 66 2 96 4
7 2 37 3 67 4 97 1
8 1 38 1 68 1 98 3
9 3 39 3 69 3 99 4
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10 1 40 2 70 3 100
11 3 41 2 71 1 101
12 3 42 2 72 3 102
13 2 43 2 73 2 103
14 1 44 3 74 3 104
15 2 45 1 75 2 105
16 3 46 2 76 2 106
17 2 47 1 77 3 107
18 4 48 2 78 2 108
19 2 49 1 79 1 109
20 3 50 2 80 2 110
21 4 51 1 81 1 111
22 4 52 2 82 1 112
23 4 53 2 83 2 113
24 3 54 1 84 2 114
25 2 55 4 85 1

26 3 56 3 86 4

27 3 57 2 87 2

28 1 58 2 88 1

29 2 59 1 89 3

30 1 60 2 90 3

Advance Welder Final LEVEL?2

Q 1) The walls of welding shop should be painted/ afedT [Cag CARACICRUISIRIEIRY

1) Dark colour/TgRI 0
2) White colour/Fhg 3T
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3) Reflecting colour/dfafaftead ¥
4) None of theseE_fI'a[ I ﬁ's‘ :|_6°[

Q 2) For safety purpose, what is NOT good practice?/ {gX&T & GQQQ ﬁ, s:lﬁ I F SUYdd
T 82

1) Use oil or grease on cylinder ﬁttmgs/ﬁl@l@? & W TR dd 91 I &1 UanT
2) Keep cylinders cool/RTeIER 1 ST ITT

3) Not to use cylinders as rollers RTAY & ¥U H eS| &1 IUTRT 7 H3AT

4) Not to use cylinders as anvils/q%?f *» ¥ H Ricie) &1 STIRT 7 BT

Q 3) What should be arc length in manual metal arc welding?/ & ﬁﬂ\’rﬁf Ted 3Th
aAfeTT H 3iTeh b1 TTwaITS T B TMMBT?

1) Approximately equal to electrode wire dia./cI{THIT $Q}1d§\ls IR T o SRIER

2) Approximately equal to half electrode wire dia./cTTTHIT 50}10@]6 AR AN & 3T o

SRCRY

3) Aproximately equal to double elecrode wire dia/CITTHIT 3@3@3 AR AN & aﬂef &

SRCRY

%)2 Approximately equal to 1.5 times electrode wire dia./cTTTHIT g@?ﬁj@’ AR AN b 1.5 RIGII
SRICRY

Q 4) Which of these electrodes coating provides additional weld metal during welding?/

3T q B SIS BT AT b GRM ARG see UTd Hodl Rl 82

1) Iron powder electrode@_é Urdsy 3@3@3
2) Mineral silicate/Ael Rfcrare

3) Calcium ﬂuoridemﬂ tﬁﬂ’ﬂg@'

4) Metal carbonate/Hed HIEC

Q 5) In dye penetrant test, the liquid dye is pulled out of the discontinuity by virtue of which

action?/ BT8 U< ofid H, Al T3 B! fobd T IRT ST &R T STl g2

1) Heating@ﬁﬂ g1 drg-

2) Cooling/B e T Rt
3) Suction/JUUT I WidH
4) Capillary/db1RIT

Q 6) Before fixing regulator on gas cylinder, the valve i is opened a quarter turn and then
closed 1mmed1ately What is this action called?/ T feiex # Q{NCQ SUIEK LJE;('1 dled
1 AIYTS A1 TR WA Il § a1 qd 81 8¢ PR a1 Sl ¢ | T§ Weh

1) Checking/SiTar
2) Setting@ﬁ’q

3) Testing/TRI&0T
4) Crackingw

Q 7) In figure given below, identify A and B ./ g fau e fom '-Ef, A9 BUgaH
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1) A - Slope; B - Rotation/A - 6I¢T ; B - ddhr

2) A - Inclination; B - Rotation/A - ®Id ; B - dddhR
3) A - Slope; B - Inversion/A - I¢T ; B - Udcl

4) A - Angle; B - Turning/A - HIuT ; B - Iﬁ?’:‘?

Q 8) A welded joint is fixed on a vice and bent by hammering. What is this test called?/ Uch
IR S SIS Bl A15Y d §c W HUI gRI i U1 74711 Tg TRIEH01 T HEardl g2

1) Free bend test/Sh! — §S TRIE(0T

2) Nick break test/[d sie TR1&f0T

3) Fillet fracture test/Tfg el ThaeR URI&0T
4) None of theseE_flﬁ ) aﬁ's‘ qﬁ

Q 9) A welded joint is subjected to push and pull forces alternatively for a long time. What
Y Y N A~ o RN .

is this test called?/ Teh TS SIS Tl YHY Y &1 Bl debfetich U I Ycber d Wi b

3¢ §1 I8 Sid 1 HgaK! 62

1) Impact test/YHId S

2) Tensile test/d=adl URI&0T
3) Fatigue test/YehT- UI&I0T
4) Hardness test/@dl UR1&f0T

Q 10) In the welding circuit shown below, what does 2 represent?/ g fawe U afegT

gibe H, 2 1 gTaT 82 __

. | ,,f

Wk o 3 a0

= — e L;:_j:.":

o o | NZh

: ; ETURN - EC

1) Primary winding/YT Ui arsfeT
2) Secondary Winding/ﬂTW CIHE]
3) Current regulator/®Xc
4) Rectifier/d YR

Q 11) Welding symbol consists of 7 elgments. Which one is NOT among them?/ afe@T
Tl TTd dedl Jard B1d o | 370 & D IF9T 34 g AT
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1) Reference line/gY dferd

2) Arrow/dR &1 =14

3) Dimensions and other details/3{dTH d 3H{<g faavur
4) Auxiliary symbols/Hgldd Udiih

Q 12) Which metal gets easily oxidised even at room temperature?/ EARE| Yrd T 3Tt @,
HH & AYHM TR 1, ST TR S 52

1) Copper/didl

2) Aluminium/Teg[A=aq
3) Chromium/SITHTH
4) All of these/d T

Q 13) What welding process is shown in figure given below?/ g f & et afg
TfohaT Gl 7T 57

S L
g S
Wi <
1) MIG welding/faT afeg™

2) Submerged arc Weldingﬂﬁﬂzl%c 3T afedT
3) MAG welding/S7T AfcET
4) Thermit welding/dfHe afeT

Q 14)%What part of a file is hardened and tempered?/ WIg<T Dl aﬁ? T 4T 9% d el
?

1) Handle/gt

2) Tang/%'T[

3) Ferrule/& ¢l
4) Body/UYT HIIT

Q 15) What could be the reason for a hacksaw bladee getting loose after a few strokes?/ &

B UBRI & JIc 3h 4l &8 P EId 81 S T T HRUT 81 bl 82

1) The blade is stretched /&S el g3l g

2) Wing nut is worn out/fd71 e fern g3l g

3) Pitch of the blade is Wrong/@_s’ P! U 7Terd %

4) Selection of set of saw is Wrong/GTRQI T &I ECICKING] %

Q 16) What difficulty is likely to be faced in welding of medium carbon steel?/ H&H L]
T ot AT # 5T THRT BT AT ST USdl 82

1) Weld metal becomes brittle/dTS YT HR HSIG] %
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2) Weld metal becomes hard/dE Yrd BHOR Eﬁ ST %
3) It will crack if cooled rapidly/dSil & 38T ®HH TR g S SITEIT
4y All of these/ T+

Q 17) What is the effect of carbon supplied by carburising oxy-acetylene flame?/ Wﬁﬁm
STt Al §RT VIt HTe BT o1 THI BT 62

1) It makes the weld tough/dg JCE B! T Bl %

2) It makes the weld ductile/dg A I THA T %

3) It makes the metal brittle/dg YUlq Ea HIR STl g

4) It makes the metal hard and brittle/dg Ulg CAR R ks “—I’{R J1dT %

Q 18) At the end of a weld bead, the electrode is moved backward for about 10 mm
gradually increasing the electrode angle from 70 degree to 90 degree. Why is this technique

applied?/ ITS SIS & 3id H, Faiaels DI I 70 TSI T 90 TS T FTd BT,

1) To reduce distortion/m HH P B ﬁ‘l’Q

2) To avoid undercuts/®Tc AT D fog

3) To avoid craterﬂ'l% ¥4 & forg

4) To avoid inclusion of slag/cITdl & JHTAY Y §94 & forg

Q 19) Which method is suitable to avoid angular distortion (figure below) in a single V butt
joint by arc welding? / WWWWVW%ﬁWWW%@W

& o 1T aiT Jugad /7

AFTER WELDING

e

ORIGINAL POSITION

1) By using skip welding / fepy feE™ &1 Ui b

2) By locating parts out-of-position / T I B¢ I &1 Ul T bl
3) By intermittent welding / 3{TcRTRIdh CISSUED]

4) By keeping divergence allownance / fa%dR TSR TGDH

Q 20) While brazing the job got overheated. How will you manipulate the torch to overcome
the problem that may be caused due to overheating?/ TH P SR Sla (THA) 3Hfd TH
B ST g 3Hf¥ TH B I B b gl IHE1 | fAued & o s v &

1) Increase the gap between the flame cone and the job/ A D R S (THA) & qe
3{RTA ST

2) Increase the torch angle/ HEEAED] delHl

3) Reduce the speed of welding/ 3T TIfd &I e
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4) Increase the speed of welding / e TIfd B del-I

Q 21) While it is easy to cut mild steel plates by oxy-acetylene flame, it is NOT so with
aluminium plates. Why?/ 3TaT- TRIFCEH &l GRT g SWTd Wil &1 dle-T AH §,
STee TegHIT-aH @iel & Ty V91 781 8 /i

1) There is no change in colour of aluminium when it is heated / Q?{Pﬂﬁﬂq &I ITH HA
R T H BIg uRTcH g1 gl

2) The melting point of aluminium oxide is high/ Q?ﬁ’lﬂﬁ'&l—q RIS S BT TeHID I

3) The melting point of aluminium is low / Q?I":ﬂﬁ'qq BT ITAID 3T Bial %
4) Thermal expansion of aluminium is high/ Q?I'-:ﬂﬁ'qq PT YHd AR 3= Bldl %

Q 22) A cracked cast iron piece is to be repaired by gas welding. How will you control the
extension of the crack during welding?/ U ds gU ccldl clle & chS &I 1 ARG gRT
3t forar ST 8] afcdT & SR 3119 8 ds® & fawR &l FRafa &

1) By preheating / q\a’?quT'f gRT

2) By grooving the crack/ dSd & Wi R

3) By tacking at both ends of the crack / W%Eﬁ:ﬁm R ST CIh] TAMHR
4) By drilling at both ends of the crack/ A&® & Gl RIRI TR %ﬂ PR

Q 23) What safe storage medium is used to store acetylene in the cylinder at high pressure? /
Bamu%ﬁrﬁiaﬁqﬁrﬁ?ﬂ?wmﬁé?mﬁwy@awmmw
fepan ST 82

1) Water / g
2) Acetone / THICH

3) Kerosene /

4) Petroleum jelly/ ﬂ‘@ﬁuﬂ EKil

Q 24) It is best to use a trolley when a gas cylinder is to be moved from one place to another
in the workshop. If trolley is NOT available, how should a cylinder be moved? / CARRIGIR:|
T T RIfiER & U RIM A ¥R R W 3 S o1 & fore reft

1) By dragging / 98IC B

2) By rolling / SPT hX

3) By sliding / YUCT hX

4) By tilting at an angle and moving / Wa’ﬂmrﬁ gPTDPR 3R IATHY

Q 25) What will be the effect on the joint, if the gap between the plates to be brazed is

gg%?/aﬁmmaﬁaﬁ@ﬁ$@amwam%ﬁﬁhswwqm
?

1) Less distortion/ v H ﬁ?ﬁf
2) Less capillary action / @ H HIRABIHY
3) More joint strength / 3 \_Ih_é IITﬂ_@Eﬁ

4) Better joint appearance/ QS(‘N \TI\I&} faarace

Q 26) What is the pipe welding position as shown in figure given below?/ GE| IE@IQ ™
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fo & urgy afcd &t RUfa | 52

i

e

o

) 1G
2)2G
3)5G
4) 6G

Q 27) Figure given below relates to oxy-acetylene cutting. It is mentioned Maintain correct

distance . How much should it be?/ 7Y fear a1 o &m-qm WI'&F T greig %|
3fed g8t S X fean T g I8 fpa g e e
™

Maintain cosrect distance

™, Keep at right-angles -~

—{— Remove rust and scale
before commencing

Make sure edge of plate Adljusst pressuures correctly
i$ at corect tempetature at requlators

1) 1 mm /o,
2)5mm/ﬁﬂﬂ.
3) 10 mm / T,
4) 20 mm/ T,

Q 28) What is the technique of gas welding as shown in figure below?/ IBEACEE: anié

T T AfET 1 dh-ilep T 82
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1) Left-ward welding/ TUe-aTS dfca
2) Right-ward welding / JT5c-aTe dfeaTl
3) Side-ward welding / GT38-aTS AfeaT
4) Normal welding / HTHI afedT

Q 29) What should be the shade number of filter glass to be used for arc welding with 150

ampere current?/lSO@WWﬂ%ﬁWé%T%%ﬂ g dd Eaefdla IT’PQ'CQW
DI VS AT T gIH! AW

1) Shade numer ..... 6/ US T&A..... 6

2) Shade number ..... 8/ S G&AT..... 8

3) Shade number....... 10/ RIS G&AT...... 10
4) Shade number ....... 22/ RIS T&=AT.... 22

Q 30) The open circuit voltage normally ranges between ................. in case of welding
transformers. / AfCETT TRIHTHR & A H 31U Gfdhe dieesl SMAR W ................ &
ClERGIE

1) 50 - 70 V/ Alee

2) 70 - 90 V/ dlee

3)90-110 V/dlee
4) 110 - 130 v/ dlee

Q 31) The open circuit voltage normally ranges between ................. in case of welding
rectifiers. / AT =MD & ATHA H ST Widhe dlecol AR W ................ & dtg
ST

1)30-60V/ dlec

2) 50 - 80 V/ Al

3)80- 110 V/ dlee
4) 110 - 140 V/ dle

Q 32) Before a regulator is fixed on gas cylinder, the valve is opened momentarily and then
closed immediately. The purpose is to clear the dirt. What is this action called?/ Udh i"_ léaz
& 9 ey R @ 4 Ued, aTed &0 =0 9 Wielt e § 3R fR

1) Checking / ST
2) Clearing / AN
3) Cracking /

4) Cleaning / 9T

Q 33) Which defect in T - fillet weld can be detected by nick break test?/ A% g Tigm
GRI T- fheie dcs | 19T IV UdT Gl Sl Hehdll 672

1) Crater cracks / TTgI XX
2) Surface cracks/ Hdg QR
3) Lack of root penetration / ©IS A &1 3THTT

4) Insufficient throat thickness / 300G 3T HIeTg

Q 34) As per Indian Standards, electrode coding contains two letters followed by a 4-digit
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number. What detail is given by the fourth digit? / YR AFD] b IR, $Q1C1CI6

DI H Ueb 4 3ich T Jld &) 3eR B g TN 3ih gRI B faarur i

1) Tensile strength / TT-grH

2) Welding position / afceT Rufd

3) Percentage elongation / gfa=rd deld

4) Welding current and voltage condition / JfcETT yaTe 9 dieeo! fRUfA

Q 35) Oxy-acetylene cutting torch can be used to cut easily ................... /3T Qlﬁiédlq
T aTelt o BT STANT ............ DI A A HTe & o fovan ST dwar g

1) Stainless steel [T T
2) Cast iron /=l I
3) Carbon steel CACEEN]

4) Aluminium m@gﬁﬁuﬂ

Q 36) In arc welding, the problem of arc blow can be avoided by ............... / 31T afegT ﬁ,
............... Y 31 A1 D1 TR Y 41 o Ihell 5 |

1) Using AC welding machine /T qfeETT U=fiq &1 TN

2) Using bare electrodes AT 3@3@3 P ITIRT

3) Increasing arc length /31 Bt FIET‘&C dell

4) Welding away from earth connection /\Hﬁh CRENE RS [ CIRUCES]]

Q 37) In coding of electrodes, radlographic quality of electrodes is indicated by letter/
sﬁaz%wﬁﬁ%ﬂﬁs@aag ST S U B ... &R gRI Sfird foban

1A
2) X
3)Y
4z

Q 38) Which type of flux coated electrodes are used in fusion welding of cast iron? /eaar

AET & Yag afedT § fh g YR & Tl BIeS SadeIgy b1 SUTNT faat SiTdT 82

1) Basic type /Hdl UHR &

2) Rutile type [EId UhR

3) Cellulose type @Fﬂ?ﬁﬁ UPbR

4) Iron oxide type /?‘ﬁ%’ RIS UHR

Q 39) What is the function of earth clamp as used in arc weldmg‘?/\’rﬂé GIRSUE] Ugad G
aret SiffT aeiy &1 T Bl 2

1) Hold the electrode firmly during welding / AfET & IRMA 3@3@3 Dl uaa;cﬂ J gh el
2) Connect the electrode firmly during welding /AfeET & ERM 3@3@_6' Dl II\_rﬁKﬁ |
HAIE BT

3) Connect the earthing cable to workpiece /31T I B IHUNY F Hide HAT

4) Conduct current from earthing cable to electrode /31 Haa @ ‘s’éaiﬁtc: b hIC
EEURSERS
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Q 40) The capacity of an arc welding machine is indicated by ............... /31T afcdT A=
B GHAT DI ... Y (A fasan Srar 31

1) Open circuit voltage /Tl gROY diect

2) Closed circuit voltage /4G ORTY aieest

3) Input current in ampere /TYC T, TR o

4) Output current in ampere /3{3CYc T, TR |

Q 41) Why is welding helmet made black in colour? /AfET gHE &I HIcl 1T HT 4|
ST STl 82

1) It gives pleasing appearance /9% o | 3T e %
2) It better reflects light /I8 YT &I dgaR &7 uRafdd Hd1 g
3) It absorbs light /I8 UGBTI BT SINT H AT 8

4) Tt reduces its cost /3T STPBT AT HH 3Tl §

Q 42)%A ball pein hammer is specified by ................ CIGRIG ‘s’%ﬁé 0 S R Ay
ERGE

1) Its weight /3P gol

2) Length of its handle 3B E’?a &I ?‘ng

3) Shape of its face /3D HAD b HTHR

4) Material of its head /39 RR &1 99 § Ugad qrddt

Q 43) Before tack welding of pipes, a 1.5 mm bent wire is placed between the pipes. What

isitspurpose?/q@ﬁ Wﬁ%@r,ﬂ%@msﬁtﬁmwwli@@@ﬂ
R TR SI1T § | SHeT I8 &1 &7

1) To prevent welding defects Af&T 3 ﬁﬁtﬁ PIAP- B fa
2) To maintain uniform gap/J JH 3R §9T¢ 3G & ferg
3) To increase weld strength [AfET P didd a’arfr & forg

4) To prevent distortion ffo=gur &Y e & forg

Q 44) What is the effect of having long arc in arc welding? /31T afcET H 31h dal 811 IR
T YHTG IS 82

1) Arc becomes unstable /3Th AR _epf SIldT %

2) Metal deposition is correct /YT T STHI ﬂﬁ[ Eﬁ?‘ﬂ %

3) Electrode burns evenly /308 THM ¥U  SIeldl §

4) There is no wastage in electrode burning /sao@s % UIQ'1'\1 '-Ef Oh\l‘g AUy :lg)[ S\Idl %

Q 45) Which welding machine has commutator as one of its parts? wmﬁa g afegT
T3 31 T ol &2

1) Motor generator set /ATeR SFeR e
2) Welding transformer AT Wq?lﬁ?
3) Welding rectifier /AT XA THIIR

4) Engine driven set /391 TIferd e
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Q 46) This is the zone in a welded joint which has not melted but its microstructure has

changed. / T T AT U §U SIS T TS & ¢ il fouen e &, AT 39t

HTShRCaRR & T 5|

1) Local zone [T &

2) Base zone /3{TUR &

3) Heat-affected zone /A3 BHI 3 gyTfad &=
4) Cold zone /&81 83

Q 47) The inclination of the torch to workpiece in rightward technique in gas welding

TR /G dfeET B Tl dobiich | aeh U & Ufd IR b1 b1

1) 30°-40°
2) 40°-50°
3) 50°—60°
4) 60°~70°

Q 48) What is the function of gas regulator provided on gas cylinder? A RdsR R fqu

T T TGQieR &1 1 B g2

1) To obtain different types of flames /AT UBR &t o U HAT

2) To mix gases in required proportlon /HTdRYh HJUld H  feH & faw
3) To vary volume of gas supply 3'|Tq¢ﬁf CARIE]] Wef & forg

4) To set working pressure /1 & fog T H1ad T HH B fog

Q 49) In which welding position the rate of filler metal deposition is more? g AfET Bt
fRUf  URTT U1 & STH1G Bt &R 31T Bl g2

1) Flat position /HHd fufa

2) Vertical position /3 eafer fUfd

3) Horizontal position / afos fRufa

4) Overhead position MRR & SR P! R

LEVEL2 Answer key
Question No. | Option Question No. | Option
1 1 31 2
2 1 32 3
3 1 33 3
4 1 34 4
5 4 35 3
6 4 36 1
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7 1 37 2
8 1 38 1
9 3 39 3
10 2 40 4
11 4 41 3
12 4 42 1
13 2 43 2
14 4 44 1
15 1 45 1
16 4 46 3
17 4 47 2
18 3 48 4
19 2 49 1
20 1
21 2
22 4
23 2
24 4
25 2
26 2
27 2
28 2
29 3
30 2
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